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(IHNWLYLWDV 3URJUDP�'HVDNX�
0HQDQWL�%DJL�ZDUJD�%LQDDQ�6RVLDO�
�:%6��GL .HFDPDWDQ�.RWR�7DQJDK
.RWD�3DGDQJ�

3HQHOLWLDQ� LQL� GLODWDU� EHODNDQJL� ROHK SHUPDVDODKDQ� NHEHUDGDDQ�
JHODQGDQJDQ�� SHQJHPLV�� SHQJDPHQ�� EDQ\DN� PHQLPEXONDQ� NHUHVDKDUDQ�
GLNDODQJDQ� PDV\DUDNDW�� 'LUHNWRUDW� 5HKDELOLWDVL� 6RVLDO� 7XQD� 6RVLDO� EHUXSD\D�
PHQJHPEDQJNDQ� VHEXDK� PRGHO� GDODP� SHQDQJDQDQ� JHODQGDQJDQ� GDQ� SHQJHPLV�
\DQJ� GLEHUL� QDPD� ³3URJUDP�'HVDNX�0HQDQWL�� 5HKDELOLWDVL� 6RVLDO� *HODQGDQJDQ�
GDQ� 3HQJHPLV� 7HUSDGX� %HUEDVLV� 'HVD´� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�
PHQJHWDKXL� GDQ�PHQGHVNULSVLNDQ� ���� (IHNWLYLWDV� SURJUDP� GHVDNX�PHQDQWL� EDJL�
ZDUJD� ELQDDQ� VRVLDO� GL� .RWD� 3DGDQJ� ���� )DNWRU±IDNWRU� \DQJ� PHPSHQJDUXKL�
HIHNWLILWDV� SURJUDP� GHVDNX� PHQDQWL� �� ���� 8SD\D� � GDODP� PHQJDWDVL� EHUEDJDL�
NHQGDOD�GDODP�SURJUDP�'HVDNX�0HQDQWL�

-HQLV� SHQHOLWLDQ DGDODK� SHQHOLWLDQ� NXDOLWDWLI� GHQJDQ� PHWRGH� GHVNULSWLI��
,QIRUPDQ�GDODP�SHQHOLWLDQ� GLWHQWXNDQ�GHQJDQ� WHNQLN� 3XUSRVLYH�6DPSOLQJ��'DWD�
SHQXOLV� NXPSXONDQ� GHQJDQ� PHODNXNDQ� ZDZDQFDUD�� REVHUYDVL�� GDQ� VWXGL�
GRNXPHQWDVL� GHQJDQ�PHQJJXQDNDQ� SHGRPDQ�ZDZDQFDUD� GDQ� FDWDWDQ� ODSDQJDQ��
7HNQLN� PHQJXML� NHDEVDKDQ� GDWD� GHQJDQ� WULDQJXODVL� VXPEHU�� 6HGDQJNDQ� WHNQLN�
DQDOLVLV�GDWD�\DQJ�GLJXQDNDQ�DGDODK�SHQJXPSXODQ�GDWD�� UHGXNVL�GDWD��SHQ\DMLDQ�
GDWD� GDQ� YHULILNDVL� NHVLPSXODQ�� ,QGLNDWRU� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL�
DGDODK� NHEHUKDVLODQ� SURJUDP�� NHEHUKDVLODQ� VDVDUDQ�� NHSXDVDQ� SURJUDP��
NHVHVXDLDQ�LQSXW�GDQ�RXWSXW��VHUWD�SHQFDSDLDQ�WXMXDQ�PQH\HOXUXK�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� SURJUDP� 'HVDNX� 0HQDQWL� EDJL�
ZDUJD� ELQDDQ� VRVLDO� GL� .RWD� 3DGDQJ� DGDODK� WLGDN� HIHNWLI�� +DO� LQL� WHUOLKDW� SDGD�
LQGLNDWRU� NHEHUKDVLODQ� VDVDUDQ�� \DNQL� GDSDW� GLNDWDNDQ� EDKZD� SURJUDP� LQL� WLGDN�
WHSDW� VDVDUDQ�� 6HODQMXWQ\D� WHUGDSDW� EHEHUDSD� NHQGDOD� \DQJ� PHPSHQJDUXKL�
HIHNWLYLWDV�SURJUDP�'HVDNX�0HQDQWL�GL�.RWD�3DGDQJ����
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